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Recipe: 12 L fE B B 0.87 ficsf (4 BE)ergd sk B3

# i 12 standard gk 2 380 A 0.87um sk B B T 17 0.3um~0.25

um % B 4 ¥ 0.4um B B $3F &0 process window °

TEZ03um BRI X3 wEF| o & standard mode 95k 18 ar R

£ process window ° #-energy / focus (E/F )% % 1950/0.2 (JM2/um) »
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B: EERLH G /RrEE R 0.87um/0.3um & B 410 process window
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CD=0.226 CD=0.223 CD =0.252

TR A4 04um B B S i standard mode g 5k {4 #7 4 d) e process
window ° #-energy /focus (E/F)3% 2 1350/0.1(JM?2/um) » & 3| &

#| £ # F(EL) +/- 7% % B % (DOF) 0.9 3k
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E/F=1350/0.1 EL= 14% DOF= 0.9um

Bl: EERLH N /REER 0.87um/0.4um % & ++3F ¢ process window
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B Rk AP R gk E R > #-0.87um it = 0.52um o
TE A 03um BB xR AR K S AR d process
window ° #-energy /focus (E/F)3% 2 1570/0.3(JM2/um) » ¥ 3|5 &

| = F(EL) +/- 4% & FiF (DOF) 0.5 A
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E/F= 1570/0.3 EL= 8% DOF= 0.5um

Bl: BEREHEN /EEERE 0.52um/0.3um % & % process window



A.0.52um kKfE B B THRE > 025um R ERT fF47 0 L& process
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E/F = 1150/0(J/um)
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0.87 #csk ke B B &1 trimming % 2

before trimming
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before trimming
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after trimming CD = 0.205
um (A\CD =0.043 um)

after trimming CD = 0.136
um (ACD =0.053 um)

after trimming

0.52 ficsk % FE B B ¢ trimming 42

before trimming E/F =

1150/0 CD = 0.302 um

before trimming E/F =

2470/0 CD = 0.159 um

after trimming CD = 0.215
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£ 1e 5 & #1225 nm (&~ 500 nm )
Trimming rate : 0.19 nm / sec (side etching )
1.25 nm / sec ( top etching)

top etching / side etching ~ 6.6
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Recipe :24 ke B B 0.42 ficsF (% Bb)ereR 6 Rl
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% B & eH process window ©
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W: g k8 /e E R 0.42um/PEB=120°C/90s

0.3 ~ 0.25um % # % 1 process window

AP A IR 025um B EMRAIERE > TE S 0.25um B RS

standard mode & & 3 #1 4 1) &9 process window ° #- energy / focus (E/F)

v

2r Y
Ko

1980 /-0.2(JM2 /um) » ¥ 3| ¥ /& (DOF) 0.6 ik



E/F = 1980/0(J/um)

CD=0.221um

E/F = 1980/-0.2(J/um)

CD=0.223 um

E/F = 1980/-0.4(J/um)

CD =0.23um
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nme #-energy /focus (E/F)#&% % 2320/-0.2(JM2/um): {8 5| 8 ;% (DOF)

0.4 Jst o
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CD=0.129 um

E/F = 2320/-0.4()/um)

CD =0.139um




